@

3

4)

®)

©)

(N

®

@

EDE - B D

mR % IR

2 Al A H
(+5)-(-5) D 18)+(+9) 99 (+8)+(+4)
£;9>x<+2> o £§5»<—7> @ £;7>x<+9>
é;54)+(-6) 1 £—8>x(-3) = £;4%(-é>
é;14>+«+7> o £;5y4+5> 5o g—7}4+2>
;8)X04) <”>;4rce> <W>;2w04>
é;81)+(+9) w £—4%(+6) o £463>+<—7>
é;81)+(-9) @ £;30>+<+é> = £—2>4—9>
£;14>+«—2> @ £—3>x<—7> “o £;3><—4>
£+30)%—(-é) o £—3>+<—3> “o g—é)-(+3)
£;4w<—2> = £463>+<+9> “ £;18>+(+é>
;-8)+(—7) @ £-7>><<+3> “ g—3>—<—3>
£;4w<—3> @ £;5>x<+9> “ £;12)+(—é>
é;28)+(+7) @ £;4w<+5> “o £;5)x<—7>
£;42>+«+7> wo g¥5}(—4> “o £§2>x<—2>
£;7w<+5> @y £;2>x(+7> “n £;8)x(+8)
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(+72) ~ (+9)

(+5) X (-7)

(+2)-(-5)

(+3) X (+2)

(+2) X (-5)

(-4) X (-6)

(+2)-(-4)

(-D-(+3)

(+6)+(-6)

(+3)-(-2)

(-8) X (+7)

(-25)+(-5)

(+36) = (-6)

(+5) X (-2)

(-3)+(+3)

(-12) +(+2)
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M (+5)-(-5) D (c18) = (+9) ¥ (+8)+(+4) U9 (+92) = (+9)
= +10 = -2 = +12 - +8

@ (+9) X (+2) 18 (+5)-(-7) GY(+7) X (+9) ©0 (+5) X (-7)
= +18 = +12 = +H3 = -35

@ w56 17 (-8) X (-3) B9 (44)-(-6) OV (40)-(-5)
= -9 = +24 = +10 =+

W1 =D D (+5)-(+5) GO (—P)-(+2) G2 (+3) X (+2)
=+ = 0 = - = +6

© (+8) X (-4) @D (-4)-(-3) GV (+)+(-4) 69 (+2) X (-5)
S = - ) - -10

© (8= (+9) P (~h+(+6) GO +63) = (-7 Y (~) X (-6)
= - = 42 = - = 424

D8 =(-9 P @36 O (-2-(-9) 9 (40)-(-4)
= +9 = +5 = 47 = +6

® -2 W (HXED O (+3)-(-4) GO (~7)-(+3)
= +7 = +21 = +7 = -10

@30 (-6 P (-3)+(-3) D (~6)-(+3) D (+6)+(-6)
- -5 = -6 = -9 - 0

10 1 4)+(-2) @ (163 =(+9) W@ (18)=(+6) P (+3)-(-2)
= 4 = 47 - -3 = +5

0 (-8)+(-7) @D (- X (+3) 4D (-3)-(-3) &9 (-8) X (+7)
- -15 = -] = 0 - -5

12 (—4)+(-3) & (+5) X (+9) W 1)+ O (-25)=(-5)
S = +45 = -2 = 45

19 (28) = (+7) @ (+4)+(+5) U By x (-7) OV (+36) = (-6)
= +4 = 49 = +35 = -

WD 4y =+ 0 (-5)-(-4) U 12y x (-2) 2 (+5) X (-2)
= +6 = - = -4 = -10

19 (—7)+(+5) GO X (+7) UD(-8) X (+8) 3 (~3)+(+3)
- -2 = -14 = -4 - 0

1 B (+8)-(-6) NG E O BN G I R G

(+2)+(-3)
= -1

= +14



